Summer Term - Week 10 (w/c 29th June)

https://whiterosemaths.com/homelearning/year-6/

White Rose Hub online video & BBC Bitesize Maths lessons

This week we are on week 10 on the White Rose Hub website. We are
revising ratio which we covered at the beginning of lock down. Now that
most of Year 6 are back in school, we wanted to make sure that you have a
good understanding of this topic. Make sure you watch the video and try
the practice questions as you go before you try the sheet. There are also
some expected and greater depth questions for you to try as well.

Challenge:
Each day, there are some optional Greater Depth challenge questions

linked to each lesson and you can also watch the BBC Bitesize Maths lesson
for that day for extra learning. Also, | have included a greater depth
arithmetic test this week as many of you are scoring close to 30/30.
Challenge yourselves and be ready for Year 7.

Support:
Ask an adult to watch the video with you and help you to complete the

guestions you can do. You might also find it helpful to watch the BBC
Bitesize lesson as well. If this is still too tricky, then don’t worry complete
the ‘I need more help’ maths learning pack instead and complete the easier
task.

aaE BBC Bitesize daily maths lessons
Bitesize https://www.bbc.co.uk/bitesize/dailylessons

https://play.numbots.com/#/account/school-login/2875

https://play.ttrockstars.com/auth/school/student/2875

Extra challenge

Here is a chance to play a version of the classic Countdown Game. The challenge is to use the
numbers available and the four standard operations (addition, subtraction, multiplication and
division) to hit the target.

Each card can only be used once but it may not be necessary to use all the cards.

https://nrich.maths.org /6499
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What is Ratio? ®

It is usually used when working with quantities as it helps you keep them in
balance.

If a cake mixture needs 3 times as much flour
compared to butter then we can say the
ratio is 3:1.

If we need to use 100g of butter, then there still needs to be 3 times as
much flour, which would be 300q.

If we increased the quantity to 900g of flour, how much butter is needed?




29.06.20 Lesson 1

Introducing the ratio symbol

o The ratios show shaded parts to non-shaded parts.

Match the ratios, statements and bar models.

five to two

three to two

two to three

two to five
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The ratio of purple
to yellow is 5:4

Who is correct?

Explain your answer.

o Here are some rulers and some pencils.

a) What is the ratio of pencils to rulers?

b) Here are some more rulers and pencils.

The ratio of pencils
@ to rulers is the

same as in part a).

Ron is wrong because
there are more pencils
and more rulers.

1@

Who is correct?

Explain your answer.

+
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o Dani has some counters, cubes and marbles.
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Complete the sentences.

The ratio of counters to marbles is I:ll:‘
The ratio of marbles to cubes is |:||:| @ 0 @
The ratio of cubes to counters is I:‘I:‘ ‘ @
The ratio of counters to cubes is DD @ ‘

The ratio of counters to cubes to marbles is D: I:‘: |:|

Brett has drawn some triangles and squares.

The ratio of triangles to squares is 1:3
a) Are there more triangles or more squares?

Explain how you know.

b) Brett has drawn more than 10 shapes.

Draw what Brett might have drawn.

o The ratio of horses to chickens in a field is 2:5

Here are the horses. Draw the chickens.

T
o

o
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o Shade squares so that the ratio of shaded to non-shaded squares

is1:4

o [TTT11]

BITTT[] @

A box contains dark, white and milk chocolates.
% of the box are dark chocolates.
% of the box are milk chocolates.

The rest are white chocolates.

What does each ratio represent?

a) 1:3

b) 4:1

o 3:5
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Answers - 29.06.20 Lesson 1

Introducing the ratio symbol

o The ratios show shaded parts to non-shaded parts.

Match the ratios, statements and bar models.

[ 23 } [ five to two ] I:I:I:l:l:\:l:l
three to two ] D:I:D:I
two to three %j
(Cwem )/ O
2

5:2 }
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The ratio of purple
to yellow is 5:4

Who is correct? 10

Explain your answer.

There ore S purple and U js-u.n,q

o Here are some rulers and some pencils.

a) What is the ratio of pencils to rulers? |I|:

b) Here are some more rulers and pencils.

The ratio of pencils
to rulers is the
same as in part a).

Ron is wrong because
there are more pencils
and more rulers.

Who is correct? @

Explain your answer.

There ove stud Srulua&sru)erjlu‘wnéd

o Dani has some counters, cubes and marbles.
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Complete the sentences.

The ratio of counters to marbles is

The ratio of marbles to cubes is

The ratio of cubes to counters is ‘ @
Y

The ratio of counters to cubes is 0

The ratio of counters to cubes to marbles is

o Brett has drawn some triangles and squares.

The ratio of triangles to squares is 1:3

Q

a) Are there more triangles or more squares?

Explain how you know.

) ,

b) Brett has drawn more than 10 shapes.

Draw what Brett might have drawn.

e

A OO0
A OO
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o The ratio of horses to chickens in a field is 2:5

Here are the horses. Draw the chickens.

‘5 88‘
8
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o Shade squares so that the ratio of shaded to non-shaded squares
is1:4

o BT 117 I”%III\ "E

o A box contains dark, white and milk chocolates.

% of the box are dark chocolates.
% of the box are milk chocolates.
The rest are white chocolates.

What does each ratio represent?
a) 1:3
whute to darle

b) 4:1
milly o wiute

c 3:5

darle ko 0ok dorle




Additional task

Optional

Lesson 1 29.06.20 - Introducing the ratio symbol
Expected - fluency, problem solving & reasoning

Infroducing the Ratio Symbol

5a. True or false? The ratio of bananas to
apples is 4:3.

I e

/\
W

éa. Match the statements that mean the
same thing.

A.1:2red 1. There are twice aJ
icounters to blue {many blue counters

counters as red counters.

B. 3:2red 2. For every 2 blue
icounters to blue counters, there are

counters 3 red counters.

C.2:3red 3. For every 2 red
lcounters to blue counters, there are

counters 3 blue counters.

I

Infroducing the Ratio Symbol

4a. This machine turns sentences into
ratios. Could this ratio be correct?

R

There are
twice as
many pears

roreves | ™ DEsET

oranges,
there are 3
apples.

—

Convince me.

o7 :

7a. Write a statement to describe the
ratio of 6:8 shown below.
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5a. Each child’s statement is correct.

The ratio is 4:3. }
Cole TN

4
The fractionis — .
[ e fracrion iIs 13 Eiise

000000AAA |||

Explain how this is possible.

o k

8a. Circle the odd one out by matching
the ratios to the description.

#&5000

1:3
rings to necklaces to watches
1:3:2
rings to necklaces
3:2:1 .
<2
N

éa. In a bag of 10 sweets, 3 are red. The

5
rest are green or blue.

Write down 3 solutions for the possible

ratio of red to blue to green sweets.

Draw counters to support your answers.

W




Additional task Optional
Lesson 1 29.06.20- Introducing the ratio symbol
Greater Depth - fluency, problem solving & reasoning

Infroducing the Ratio Symbol Infroducing the Ratio Symbol
9a. True or false? The ratio of rings to 7a. This machine turns sentences into
watches to necklaces is 2:1:3. ratios. Could this ratio be correct?

9 - 3 ofa bag
# 00Q08S ﬂ
of sweets are
red. For
every 2 blue » .' ‘
10a. Match the statements that mean the sweets, there
same thing.
are 3 green

A. 1:3:5 apples 1. For every apple, \_ sweets. )

to oranges to there are 2 oranges Convince me.

pears and 4 pears.

8a. Each child's statement is correct.

B. 5:3:1 apples 2. For every apple,

to pears to there are 5 pears

oranges and 3 oranges.
' i The ratio is 2:3. J
C. 1:2:4 apples 3. For every orange, Leemar
to oranges to there are 5 apples 1
pears and 3 pears. The fraction is =3
Persephone

11a. Write a statement to describe the - . . - O . . - ®

ratio of 1:3:4 shown below.
Explain how this is possible.

— =

i \ \i \ |
7 7 7
@ @ @ 9a. In a class of 30 children, 130 have a

pet dog. The rest either have a pet cat or

$’llll

12a. Circle the odd one out by matching have no pets. More children have a pet

the ratios to the description. than don't have a pet.

Watitti@ n
Y VY VY y Write down 3 solutions for the possible

ratio of dogs to cats to none.

2:2:5

corn to peas to carrots

2:5 Draw counters to support your answers.

corn to carrots

5:2:2




Answers

Expected
5a. False; it is 3:4.
éa. A:1;B:2;C: 3.

7a. There are é corn for every 8 carrots.

8a 3:2:1 is the odd one out.

Greater Depth
9a. False; it is 1:2:3.

10a. A: 2;B: 3; C: 1.

11a. For every plain sock, there are 3
spotty and 4 striped.

12a. 5:2:2 is the odd one out.

®

Expected

4a. Yes because the ratio of apples to
oranges to pears would be 3:2:4.

5a. Cole is describing the ratio of
rectangles to friangles. Elise is describing
the proportion of shapes that are
rectangles.

éa. Various answers, for example: 6:1:3,
6:2:2, 6:3:1

Greater Depth

7a. Yes because the ratio of red to blue to
green sweets would be 3:2:3.

8a. Leemar is describing the ratio of
circles to frapeziums. Persephone is
describing the proportion of the shapes
that are trapeziums.

9a. Various answers, for example: 9:20:1,
9:19:2, 9:18:3
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cu Iculuting rutlo o Tom has 5 green cubes for every 3 yellow cubes.
He has 16 cubes in total.

Draw a diagram to represent this.

o Eva is baking cakes and cookies.

For every 1 cake, she will bake 2 cookies.

a) If Eva bakes 3 cakes, how many cookies will she bake?

l:] o Esther is building a tower of cubes.

The ratio of red to yellow cubes is 3:1

b) If Eva bakes 10 cookies, how many cakes will she bake? The tower has 6 yellow cubes. How many red cubes are there?

] [

° Nijah plays 21 games of chess.

2‘/ For every 2 games she wins, she loses 5 games.

o The ratio of red to yellow counters is 2:3 QQOOO
There are 20 counters in total. OOOOO How many more games does she lose than win?

How many counters of each colour are there? QOOOO

CO000

You can colour the counters to help you.

[]

® White Rose Maths 2019

o a) Huan is making a drink by mixing 1 part juice with 5 o A group of students study French or German in the ratio 3:7
parts water.

a) Which subject has the most students?
Complete the table to show the amounts he would need to use.

b) Draw a diagram to represent this.

Juice Water
1 litre 5 litres
2 litres
¢) There are 80 students in total.
" How many more students study German than French?
4 litres
200 ml
o Describe a situation for each bar model.
300 ml
a) green | ]
blue }28
30 litres I:]:‘:I
750 ml b) 28
e

green D:D:‘
blue D:‘:l

¢ green
b) Huan makes 1 litre 500 ml of drink in total. D]j:l

bive [T kg
28

How much juice and water does he need to use?

Compare answers with o partner.

What is the same and what is different?
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Answers - 30.06.20 Lesson 2

o Tom has 5 green cubes for every 3 yellow cubes.

Calculating ratio

He has 16 cubes in total.

Draw a diagram to represent this.

o Eva is baking cakes and cookies.

For every 1 cake, she will bake 2 cookies.

a) If Eva bakes 3 cakes, how many cookies will she bake?

o Esther is building a tower of cubes.

The ratio of red to yellow cubes is 3:1

b) If Eva bakes 10 cookies, how many cakes will she bake? The tower has 6 yellow cubes. How many red cubes are there?

o Nijah plays 21 games of chess.

. . A . e 2|., For every 2 games she wins, she loses 5 games.
o The ratio of red to yellow counters is 2:3 O.r 1 ] J
b, i in?
There are 20 counters in total. .. QO How many more games does she lose than win?
000
How many counters of each colour are there? 6. - ",__\ <
000
You can colour the counters to help you.
yellow‘ 12 | red| ‘
& White Rose Maths 2019
o a) Huan is making a drink by mixing 1 part juice with 5 o A group of students study French or German in the ratio 3:7
parts water.
a) Which subject has the most students? Geeman
Complete the table to show the amounts he would need to use.
b) Draw a diagram to represent this.
Juice Water
e 3
1 litre 5 litres 1 E LL
French German
2 litres 10 Ukres
c) There are 80 students in total.
4 litres 20 litres How many more students study German than French?
100 ml 500 mL
200 mi | likee
o Describe a situation for each bar model. Vorioun anSwers
300 ml 1°5  litres
' @ green )
28
6 litres 30 litres blue [TT777]
150 mL 750 ml b) 28

green (T
sive [T ]

9 green [T

b) Huan makes 1 litre 500 ml of drink in total.
blue
[

How much juice and water does he need to use?

Compare answers with a partner.

What is the same and what is different?
juice water | | 050 0




Additional task Optional

30.06.20 Lesson 2
Calculating ratio
Expected - fluency, problem solving & reasoning

Calculating Ratio

4a. Use the image below to complete the
ratio statements.

For every ___ apples, thereare ___

bananas. D : D

If there are 12 apples, how many bananas
will there be?

Calculating Ratio

4aq. Fred is catering for a large party.
For every 2 cheese pizzas, he makes 3
ham pizzas.

There are 60 people in the party, % of
the people want a cheese pizza.

How many pizzas does Fred need to
make altogether?

How many ham pizzas will he make?

5a. There are 28 pieces of fruit on a plate.
For every 4 strawberries, there are 3
raspberries. Use the bar model to help
you calculate:

How many strawberries
altogether?

How many raspberries
altogether?

[
[
il

é6a. What is the ratio of horses to giraffes?

Use the ratio to calculate how many
animals there will be altogether if there
are 20 horses.

horses
[ ]giraffes

B animals altogether

5a. A florist is arranging flowers. She wants
to arrange the flowers using the ratio 3
yellow flowers to every 1 red flower.

Have the flowers been arranged
correctly?

® o0 .
o Qr ° '

/NN
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Explain your answer.

éa. For every 4 boys in the class, there are
3 girls. There are 146 boys altogether.

Half of the boys are out of the classroom
one afternoon.

What is the new ratio of boys to girls?

What is the new total number of pupils?




Additional task

Optional

30.06.20 Lesson 2—- Calculating ratio
Greater Depth - fluency, problem solving & reasoning

Calculating Ratio

Calculating Ratio

7a. Use the image below to complete the
sentence and simplify the ratio statement.

RS

For every ___ strawberry buns, there are
___cherry buns and ___ raspbermry buns.

U0

If there are 12 strawberry buns, how many
cherry and raspberry buns will there be?

7a. Manijit is organising his work clothes.
For every 2 ties, there are 8 shirts and 4
suits.

What is the simplified ratio of ties to shirls
to suits?

He has 28 items in his work wardrobe, but
decides to get rid of half of his shirts.

How many shirts does he now have?
How many ties and suits could he get rid
of to keep the ratio the same?

8a. There are 24 goals scored during a
match. For every 3 goals scored by the
home team, there is 1 goal scored by the
away team. Use the bar model to help

you calculate:
How many away goals C]
altogether?

How many home goals
altogether?

9a. What is the simplified ratio of crisps to
chocolate to sweets?

There are 4 bags of crisps for every 8
chocolates and 2 sweets.

SHEHE

Use the ratio to calculate how many
treats there will be altogether if there are
12 bags of crisps.

B chocolates
C] sweets
G treats altogether

8a. A shopkeeper is organising the drinks
shelf. She wants the drinks to follow the
ratio 3 chemry to every 2 cola and 1 soda.

Have the drinks been arranged correctly?

Explain your answer.

9a. For every 12 geese on a farm, there
are é sheep and 4 goats. There are 44
animals on the farm altogether.

One third of the geese go missing one
morning.

What is the new simplified ratio of geese
to sheep and goats?

What is the new total number of animals?




®
Answers

Expected
4a. 4 apples, 8 bananas (accept 1 apple, Expected _
2 bananas. Ratio = 4:8 (1:2). 24 bananas. 4a. 50 pizzas altogether, 30 ham pizzas.

5a. 146 strawberries, 12 raspberries 5a. No because there are 1 too many red
éa. 5:2. 8 giraffes, 28 animals altogether. flowers (or not enough yellow flowers).
éa. 8:12 (accept 2:3), 20 pupils (8 boys, 12

girls).
Greater Depth Greater Depth

7a. 4 strawberry, 6 cherry and 2 raspbery. 7q_1:4:2, 8 shirts, 2 fies and 4 suits.
Ratio = 2:3:1. 18 cherry and é raspberry. g4 No there are 1 too many sodas.

8a. 18 home goals, 6 away goails. 2. :
9a. 2:4:1. 24 chocolates and é sweets, 42 :z:&?;’ 36 animals (16 geese, 12 sheep,

freats altogether.



01.07.20 Lesson 3

https://whiterosemaths.com/homelea
rning/year-6

Whit:

=

Using scale factors

o a) Explain what it means for a shape to be enlarged by a scale
factor of 2

o a) Here is a rectangle.

b) Enlarge the shapes by a scale factor of 2

Draw another rectangle where each side is twice as big. 2{6

b) Here is a square. |

Draw another square where each side is 4 times as big.

N

o Complete the sentence.

A shape in which each side has tripled in size has been enlarged by

a scale factor of |:|

© White Rose Maths 2019

o Here is a rectangle. o The shape has been enlarged by a scale foctor of 112-

Fill in the dimensions of the new shape.

a) Measure the side lengths of the rectangle and label them on D cm
the diagram.
15 cm
b) Enlarge the rectangle by a scale factor of 3 and label the 4,
side lengths. e
e
& cm
—t
10 em
-

o Triangle A haos been enlarged by a scale facter of 5 to make
triangle B.

Find the perimeter of each triangle.

14k’: ; 75 km

m
II om
perimeter of A = I:I perimeter of B = I:I
m

o The sides of the rectangle are increased by o scale factor of 2

What is the perimeter of the new shape?

1o
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Answers - 01.07.20 Lesson 3
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Using scale factors

o a) Explain what it means for a shape to be enlarged by a scale
factor of 2

AU op btha side La,nglim are bunc a.obnej

o a) Here is a rectangle.

b) Enlarge the shapes by a scale factor of 2

Draw another rectangle where each side is twice as big. @

b) Here is a square. I

Draw another square where each side is 4 times as big.

N

o Complete the sentence.

A shape in which each side has tripled in size has been enlarged by

a scale factor of

o Here is a rectangle. o The shape has been enlarged by a scale factor of 1%

Fill in the dimensions of the new shape.

a) Measure the side lengths of the rectangle and label them on

the diagram.
15 cm
b) Enlarge the rectangle by a scale factor of 3 and label the
side lengths. J
8cm

—
10 cm
= e

Triangle A has been enlarged by a scale factor of 5 to make
triangle B.

Find the perimeter of each triangle.

15km
F0lem

15km
14 km 75 km

o The sides of the rectangle are increased by a scale factor of 2

What is the perimeter of the new shape? 7Skm
1am
—

| | I1 m
perimeter of A = perimeter of B =
[T [en




Additional task

Optional

01.07.20 Lesson 3 - Using scaling factors
Expected - fluency, problem solving & reasoning

Using Scale Factors

Using Scale Factors

5a. Enlarge this shape by a scale factor
of 2.

4.3cm

4.5cm

ﬁ' Not to scale

éa. Jake says,

A scale factor of 3.5
a means you multiply
O each side of the original
L

shape by 3.5.

Is he correct?

W

4a. This shape has been enlarged by a
scale factor of 4. Find the perimeter of the
original shape.

12.4cm

8.8cm

é? Nof fo scale PS

7a. Copy this shape onto squared paper.
Draw it using a scale factor of 3.

W

5a. Mohammad says,

scale factor of 4, the new
perimeter will be 58.4cm.

If | enlarge the shape by a ]

4.3cm

3cm

Is he correct? Explain your answer.

Not fo scale

8a. True or false?
Shape A has increased by a scale factor

of 2 to create shape B.

éa. This triangle was enlarged by a scale
factor of four.

B. 16.4cm
A. 8.8cm

C. 12.8cm

What were the measurements of the
original triangle?

ﬁ Not to scale PS




Additional task

Optional

01.07.20 Lesson 3 — Using scaling factors
Greater Depth - fluency, problem solving & reasoning

Using Scale Factors

Using Scale Factors

9a. Enlarge this shape by a scale factor
of 3.

3.25cm

4.15cm

Not to scale

10a. Keeley says,

each side of the original
shape by 2.

* A scale of factor of 1.5
means you multiply
O-®

7a. This square has been enlarged by a
scale factor of 4. Find the perimeter of the
original shape.

12.08cm

Not to scale PS

Is she correct?

11a. Copy this shape onto squared
paper. Draw it using a scale factor of a
half.

8a. Ashleigh says,
If | enlarge the shape by a
scale factor of 3.5, the new
area will be 112.7cm?.

4.6cm

2cm

Is she correct? Explain your answer.

Not to scale

12a. True or false?
Shape A has been increased by a scale
factor of 2 to create shape B.

9a. This shape was enlarged by a scale
factor of 2.5.

A. 10cm

C.7.5cm

What were the measurements of the
original shape?

Not to scale PS




Answers

Expected
5a. A rectangle; height 8.6cm; width

13cm

éa. Yes

7a. The shape should be reproduced using
a scale factor of 3. (45 squares in total)

8a. True

Greater Depth
9a. A rectangle; height 9.75cm;

width 12.45cm

10a. No. A scale factor of 1.5 means each
side of the original shape is multiplied by
1.5.

11a. The square should be reproduced
using a scale factor of 0.5; height 1
square; width 1 square (1 square in total)
12a. False. It has been increased by a
scale factor of 1.5.

Expected
4a. 10.6cm

5a. Yes because the perimeter of the
original shape is 14.6cm. 14.6 x4 = 58.4cm
éa. A: 2.2cm, B: 4.1cm, C: 3.2cm

Greater Depth
7a. 12.08cm

8a. Yes because the sides increase to
16.1cm and 7cm. 16.1cm x 7cm =
112.7cm?

9a. A: 4cm, B: 2cm, C: 3cm
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02.07.20 Lesson 4

Ratio and Prﬂpﬂl‘tiﬂn problems — o Amir is making some chocolate chip biscuits.

He has this list of ingredients to make 6 biscuits.

Chocolate chip biscuits (makes 6)

o Whitney buys 6 cans of lemonade for £3
120 g butter
a) How much do 12 cans cost? 72 g sugar

180 g plain flour

60 g chocolate chips

b) How much do 3 cans cost?

a) How much of each ingredient does Amir need to make
2 biscuits?

butter \:| g plain flour \:’ g
sugar Cl g chocolate chips I:l g
o The ratio of red to green grapes in a bowl is 3:1

a) Explain what this means.

) How much do 15 cans cost?

L L

b) How much of each ingredient does Amir need to make

10 biscuits?
butter E g plain flour C\ g
b) There are 12 more red grapes than green grapes. .
sugar g chocolate chips g
What is the total number of grapes in the bowl?

¢} Amir has 240 g of chocolate chips.

What is the maximum number of biscuits he can make?

L] ]

° Dexter has some 20p and 50p coins in a jar. o Dora draws two similar rectangles.

(§

For every three 20p coins he has one 50p coin.

My larger rectangle is
4 times the size of the
smaller one.

There are 12 coins in the jar in total.

The perimeter of the

How much money is in the jar? larger rectangle is 48 cm.

The length and width of both rectangles are even numbers.

I:l What is the largest possible area for the small rectangle?

o A drink is made using 3 parts orange juice to 2 parts lemonade. ’/
Esther makes 1.2 litres of this drink.

How much orange juice does she need?

E cmz

o Aisha has two boxes of sweets.

|:| mi s In the first box, the ratio of red sweets to green sweets is 3:1
s In the second box, for every 2 orange sweets there are
o Two shops sell the same cereal but in different-sized boxes. 3 yellow sweets.

+ There is the same number of sweets in each box.
« There are 12 yellow sweets in the second box.

Shop A Shop B

500 g of cornflakes 750 g of cornflakes How many sweets are in the first box?
£2.10 £3.30

Which shop is better value for money? Shop

Explain why. O
-/
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Answers - 02.07.20 Lesson 4

Ratio and proportion prOblems — o Amir is making some chocolate chip biscuits.

He has this list of ingredients to make 6 biscuits.

Chocolate chip biscuits (makes 6)

o Whitney buys 6 cans of lemonade for £3

120 g butter
a) How much do 12 cans cost? th 72 g sugar
180 g plain flour
60 g chocolate chips
b) How much do 3 cans cost? EI1-50

a) How much of each ingredient does Amir need to make
2 biscuits?

butter g plain flour g
sugar g chocolate chips g
o The ratio of red to green grapes in a bowl is 3:1 ul

a) Explain what this means.

¢) How much do 15 cans cost? E

b) How much of each ingredient does Amir need to make
3 10 biscuits?
» r

butter g plain flour g
b) There are 12 more red grapes than green grapes.
) grope 9 rap sugar g chocolate chips g
What is the total number of grapes in the bowl?

¢} Amir has 240 g of chocolate chips.

Fo

What is the maximum number of biscuits he can make?

o Dexter has some 20p and 50p coins in a jar. o Dora draws two similar rectangles.

(@

For every three 20p coins he has one 50p coin.

My larger rectangle is
4 times the size of the

There are 12 coins in the jar in total.

The perimeter of the

How much money is in the jar? larger rectangle is 48 cm.

smaller one.

The length and width of both rectangles are even numbers.

What is the largest possible area for the small rectangle?
£3-30

o A drink is made using 3 parts orange juice to 2 parts lemonade. ’j
Esther makes 1.2 litres of this drink.

How much orange juice does she need?

cmz

o Aisha has two boxes of sweets.

In the first box, the ratio of red sweets to green sweets is 3:1

.
In the second box, for every 2 orange sweets there are

o Two shops sell the same cereal but in different-sized boxes. 3 yellow sweets.
There is the same number of sweets in each box.

Shop A Shop B s There are 12 yellow sweets in the second box.
op op
500 g of cornflakes 750 g of cornflakes How many sweets are in the first box?

£2.10 £3.30

Which shop is better value for money? Shop _B_

Explain why. 9




Additional task Optional

02.07.20 Lesson 4
Ratio &Proportion Problems Expected

Ratio and Proportion Problems

Ratio and Proportion Problems

5a. Shape A has been enlarged by
different scale factors to make shapes B,
C and D.

Shape Length Width
A 3cm 4cm
B 12cm
Cc 15cm
D 30cm

Calculate the missing measurements.

éa. True or false?
| need 50g of flour for every 10g of sugar.

If | have 600g of ingredients, | will have
5009 of flour.

4a. Millie is decorating a cake.

She needs 3 packs of blue sweets for
every 2 packs of chocolate buttons.

1 pack of blue sweets costs 75p.
1 pack of chocolate buttons costs 80p.

She has spent £7.70 in total.

How many packs of each has she
bought?

7a. The ratio of strawberries to grapes is
3:2.

Pippa has 25 pieces of fruit in total.

Calculate the number of strawberries and
grapes.

5a. A smoothie recipe serves 2 people.
It says to use 3 cherries, 5 grapes and 2
bananas.

Jaxon says,

"i i.

St Harry says,

To serve 8 people | will
need 44 pieces of fruit in
total.

To serve 8 people | will
need to use 20 grapes. ¥

L

Who is correct? Explain your answer.

8a. Jake is buying some paint.

The ratio of white to blue to green paint is
20:50:100.

If he buys 200 litres of blue paint, how
much white and green paint will he
need?

f\f. |

éa. Below are two equilateral friangles.
Triangle B has been enlarged from
friangle A by a scale factor of 5.

Calculate the perimeter of each triangle.

30em




Additional task
02.07.20 Lesson 4

Optional

Ratio &Proportion Problems Greater Depth Questions

Ratio and Proportion Problems

Ratio and Proportion Problems

9a. Shape A has been enlarged by
different scale factors to make shapes B,
C and D.

Shape | Length Height Width
A 10.5cm 7em 2.5cm
B 26.25cm
Cc 49zm
D 94.5¢m 22.5¢m

Calculate the missing measurements.

10a. True or falze?

| need 0.5m of ribbon for every 2m of
blue and 3m of green fabric.

If | have 11m of supplies, | will have 7.5m
of green fabric.

7a. Luey iz making photo frames using
buttons. She needs: 5 red bultons for every
3 blue and 4 yellow buttons.

The costs are as follows:

Red: 45p each
Blue: 90p each
Yellow: 25p each

She has spent £17.85 in total.

How many of each has she bought?

11a. The ratio of cupcakes to donuts and
cookies is 4:1:7

Sarah hasz 70 freat: in total

Caleculate the number of cupcakes,
donut and cookies.

8a. To create 10 cards the instructions say
to uze 20 straws, 50 sequins and 2 pots of
glitter.

Lily says,
¥ say Te make 3 cards | will need

b straws, 15 sequins and
v A two fifths of a pot of gitter. |

Hafza says,

p .
To make 4 cards | will need
8 straws, 20 sequins and
g four fifth: of a pot of glitter.

Who is comect? Explain your answer.

12a. Omar is buying baking ingredients.

The ratio of flour to sugar to butter iz
125:150:70.

If he buys 750g of flour, how much sugar
and butter will he need?

Fa. Below are two isosceles friangles.
Triangle B has been enlarged from
triangle A by a scale factor of 2.5

Calculate the perimeter of each triangle.

12.5¢m




Answers

Expected
5a. B $em, C 20cm, D 40cm

éa. True
7a. 15 strawberries, 10 grapes
8a. 80L white, 400L green

Greater Depth

9a. B 17.5cm and 6.25¢m, C 73.5¢cm and
17.5cm, D 63cm

10a. False. There will ém of green fabric.
11a. 30 cupcakes, 5 donuts, 35 cookies
12a. 900g sugar, 540g butter

Expected

4a. é packs of blue sweefs; 4 packs of
chocolate buttons

5a. Harry is correct because the recipe
has increased by a scale factor of 4 so
there will be 12 cherries, 20 grapes and 8
bananas which is 40 pieces of fruit in total.
éa. A.P=18cm, B. P = 90cm

Greater Depth
7a. 15red, 9 blue and 12 yellow

8a. Hafsa is cormrect: she has found the
amount needed for one card and
increased this by a scale factor of 4.
9a. A.P=19cm, B. P = 47.5cm



03.07.20 Lesson 5 — Arithmetic Test -
PRINT

BG4T
3456 x 0= + 4755
189+ 1= 8=
= 258
g682 + 10 x_§
200 + 1 = Bulbxd=
5014 =10 =
GEx8=
3054 - 817 - 44 =
805 -49=
3_18
9 +6= 5§ 7




03.07.20 Lesson 5 — Arithmetic Test -
PRINT

Year 6 Core Arithmetic Test 6 Year 6 Core Arithmetic Test 6

1
319 _KE-
x_T2
1 36)B6G =
— of g2 =
[}
5
— X2 =
762x7= 6
Br34-T48
003IxT=
1.3,
5% of 4200 = 573
343.1 + 1000 = E-—El.
T
’ 1
02 %0 -




Answers - 03.0720 Lesson 5

Year 6 Core Arithmetic Test 6 testbase

Mark scheme

1. L] [11 16. &G [1]
2. 188 0 17. 53.34 ]
3. 702 0 18. 0.21 ]
L 300 - 19. 210 ]
5 4 - 20, 0.3431 ]
T i~ 21. 10 ]
7. 1613 ;r 16.5 1 - % -
ur*IEE nr1ﬁ§ 11

23. For 2 marks: [2]
8. 13402 [ 24 rﬁurE-I%urE-H:ﬂB-..}
3. B4 1 Far 1 mark:

24 or evidence of either a long
division method or short division
method with only one emor

11. 160 i) {camry figures must be seen in a
short division method)

10. 1290 M1

12. 50.14 (11
24. 20 ]
13. 2193 il
25. 79.54 []
14. 30 i1
7
15. For2marks: 22968  [2] 26. 3 4
Far 1 mark; ’
il
319 21, 45 []
® 72
638 .
22 330 8 []
22 968

Arn arrar in ané row, than

added correctly, or an arrar in
the addition



03.07.20 Lesson 5 — Arithmetic Test — Extra Challenge -
PRINT

Year 6 Extension Arithmetic Test 6 Year 6 Extension Arithmetic Test 6

-94+15= 440,000 + 85,000 =

301,900 = 1,000 - 1,000 = 9900-2=
88B, 777 + 55,656 = S0 =120 =
780,003 32,000+ B0 =
- 279,154
3042 S0 +20x33=
x 7
7+ 58,100 = 63,000 3600+4+090=
6789+ 7= 5,869.1 = 100 =
40 x 800 =

48,000 + 400 =




03.07.20 Lesson 5 — Arithmetic Test — Extra Challenge -
PRINT

Year 6 Extension Arithmetic Test 6

Year 6 Extension Arithmetic Test 6

13"'9!-32-

3851 -8112=

45.6 + 1000 =

003=x7=

17TBE+1.512=

Exﬂ:

40-36+3+5=

1,258

98.8+&=

34% of 460 =




03.07.20 Lesson 5 — Arithmetic Test — Extra Challenge

Year 6 Extension Arithmetic Test 6

33

35

36

37

EvZ:

L3 ma
+
|

345860 =

EEx4=
B




Answers - 03.0720 Lesson 5 - Extra Challenge

Year 6 Extension Arithmetic Test 6 testbase

Mark scheme

1. & [11 21. 4689 [1]
2. 209,900 1] 23 ]
48
3. 044332 [11 1
23. 3 of equivalent 11
4. 500,849 1 4
a.q. E
5. 21,644 11
24. 33 [1]
6. 4,500 11
25. 376.088 [1]
7. 969 rem 6 or equivalent [1]
8g. gﬁgﬁ 26. For 2 marks: 41,251 [2]
7 For 1 mark:
497
8. 32,000 [1] % B3
1491
g, 335,000 11 19780
41251
10. 9,898 ) An arrar in one row, than added
carrectly, ar an error in the addiion
11. 6,000 11
27, 9 [1]
12. 400 ] S0
13. 710 1 28 3 [1]
b [ ] b 25
14. 940 [11 2
29, EE or equivalent 1]
15. 5BE.910 1
[ .. E, Ei
G 6
16. 120 [11
30. For 2 marks: 61,006 [2]
17. 73 [1 Faor 1 mark:
1298
18. 0.0456 i1 T
19. 0.21 i1 Ejﬂ%
20, 180112 1

Arn arrar in one row, then added
carrectly, ar an error in the addiion



Answers - 03.0720 Lesson 5 - Extra Challenge

Year 6 Extension Arithmetic Test 6 tEStbase

3. 1235 [1] 36. 1 5% or equivalent [1]
2
32. 1564 [1] e.qg. 1EE
Do not accep! vanfianal
33 1 or equivalent 1] e A 20 :
10 mixed numbers a.g. ‘FE?
5 .
34. 11— or equivalent [1] 1
12 37. 44— or equivalent [1]
17 42
*8- 12 Do not accepd unconventional
35. For 2 marks: [2] mixed numbers e.g. 3 g

172 rem 21 or equivalent

For 1 mark;

Evidence of either long
division or short division
method with only one
error (carry figures must
be seen in a short division
method).



